Fourth Grade Exit Tickets
Cluster 6 — NC.4.NF.7

1. Which of the following compares the
models correctly?
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A.058>0.6
B.0.6<0.58

(C.06> 058 |
D.0.6=0.6

2. Compare the decimals using the symbols
(>5 <e or :)'

a. 025 _¢ 030
b.0.80 7 0.08

& 033 3 017
d. 0.09 < 040

3. Mitch, Bill, and Nathan were racing to the
playground. Mitch ran in 0.68 seconds, Bill
ran in 0.7 seconds, and Nathan ran is 0.66
seconds. Who made it to the playground

first? b
J10 L% 'lf]\-ﬂaskﬂ'

Nadhan

4. Write several sentences to compare the
decimals below.

0.6 0.56 0.61
Lo Lol Loy .56

1. Which of the following compares the
models correctly?

A.0.58>0.6
B. 0.6 <0.58
C.0.6>0.58
D.0.6=10.6

2. Compare the decimals using the symbols
(>5 <5 or :)'

a.025 03
b.0.8 008
c.033 ___ 0.17
d.0.09 04

3. Mitch, Bill, and Nathan were racing to the
playground. Mitch ran in 0.68 seconds, Bill
ran in 0.7 seconds, and Nathan ran is 0.66
seconds. Who made it to the playground
first?

4. Write several sentences to compare the
decimals below.

0.6 056 0.61
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Answer Key:
1.C

2.a.<
b.>
c.>
d. <

3. Nathan

4, Some possible comparisons: 0.56 is less
than 0.6, 0.6 is less than 0.61, 0.61 is greater
than 0.56 and 0.6
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